
Derivatives
f f ′ D(f) D(f ′) Rem.

const. 0 R R

x 1 R R

xn nxn−1 R R n ∈ N

xa axa−1 x > 0 x > 0 a ∈ R

ex ex R R

ax ax ln a R R a > 0

lnx
1

x
x > 0 x > 0

loga x
1

x ln a
x > 0 x > 0 a > 0, a 6= 1

sinx cosx R R

cosx − sinx R R

tg x
1

cos2 x
x 6= π

2
+kπ x 6= π

2
+kπ

cotg x − 1

sin2 x
x 6= kπ x 6= kπ

arcsinx
1√

1− x2
[−1, 1] (−1, 1) v ±1 one sided

derivatives

arccosx − 1√
1− x2

[−1, 1] (−1, 1) v ±1 one sided
derivatives

arctg x
1

1 + x2
R R

arccotg x − 1

1 + x2
R R

sinhx coshx R R

coshx sinhx R R

tghx
1

cosh2 x
R R

cotghx − 1

sinh2 x
x 6= 0 x 6= 0

argsinhx
1√

1 + x2
R R

argcoshx
1√

x2 − 1
x > 1 x > 1

argtghx
1

1− x2
(−1, 1) (−1, 1)

argcotghx
1

1− x2
|x| > 1 |x| > 1

(kf)′ = kf ′ (f ± g)′ = f ′ ± g′ (fg)′ = f ′g + fg′
(

f
g

)′
= f ′g−fg′

g2


